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Figure 1. Schematic view of the energy absorbed and emitted by the Earth following
(1). Modified after Goose (2015).
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the climate’s dependence on the wind field, ocean currents, the Earth rotation, and thus

have only one dependent variable: the Earth’s near-surface air temperature T.

With the development of computer capacities, simpler models have not disappeared;

on the contrary, a stronger emphasis has been given to the concept of a hierarchy of

models’ as the only way to provide a linkage between theoretical understanding and

the complexity of realistic models (von Storch et al., 1999; Claussen et al., 2002). In

contrast, many important scientific debates in recent years have had their origin in the

use of conceptually simple models (Le Treut et al., 2007; Stocker, 2011), also as a way

to analyze data (Köhler et al., 2010) or complex models (Knorr et al., 2011).

Pioneering work has been done by North (North, 1975a,b, North et al., 1981, 1983)

and these models were applied subsequently (e.g., Ghil, 1976; Su and Hsieh, 1976;

Ghil and Childress, 1987; Short et al., 1991; Stocker et al., 1992). Later the EMBs

were equipped by the hydrological cycle (Chen et al., 1995; Lohmann et al., 1996;

Fanning and Weaver, 1996; Lohmann and Gerdes, 1998) to study the feedbacks in

the atmosphere-ocean-sea ice system. One of the most useful examples of a simple,

but powerful, model is the one-/zero-dimensional energy balance model. As a starting

point, a zero-dimensional model of the radiative equilibrium of the Earth is introduced

(Fig. 1)

(1� ↵)S⇡R2 = 4⇡R2
✏�T

4 (1)

where the left hand side represents the incoming energy from the Sun (size of the disk=

shadow area ⇡R
2) while the right hand side represents the outgoing energy from the

Earth (Fig. 1). T is calculated from the Stefan-Boltzmann law assuming a constant

radiative temperature, S is the solar constant - the incoming solar radiation per unit

area– about 1367Wm
�2, ↵ is the Earth’s average planetary albedo, measured to be

0.3. R is Earth’s radius = 6.371 ⇥ 106 m, � is the Stefan-Boltzmann constant =

5.67 ⇥ 10�8JK�4m�2s�1, and ✏ is the e↵ective emissivity of Earth (about 0.612) (e.g.,

Archer, 2010). The geometrical constant ⇡R2 can be factored out, giving

(1� ↵)S = 4✏�T 4 (2)

Solving for the temperature,

T =
4

s
(1� ↵)S

4✏�
(3)

Since the use of the e↵ective emissivity ✏ in (1) already accounts for the greenhouse

e↵ect we gain an average Earth temperature of 288 K (15�C), very close to the global

temperature observations/reconstructions (Hansen et al., 2011) at 14�C for 1951-1980.

Interestingly, (3) does not contain parameters like the heat capacity of the planet. We

will explore that this is essential for the temperature of the Earth’s climate system.

2. A closer look onto the spatial distribution

Let us have a closer look onto (1). The local radiative equilibrium of the Earth is

✏�T
4 = (1� ↵)S cos' cos⇥ ⇥ 1[�⇡/2<⇥<⇡/2](⇥) (4)
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Heat capacity of the climate system
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Energy balance model: Concepts of climate
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Alkenone-based temperature trends

Annual mean sea surface temperature trends

276 CHAPTER 8. BROWNIAN MOTION, WEATHER AND CLIMATE

Exercise 51 – Climate sensitivity and variability in the Stochastic Climate Model

As in exercise 50, imagine that the temperature of the ocean mixed layer of depth h is governed

by
dT

dt
= ��T + Qnet + f(t) , (8.44)

where the air-sea fluxes due to weather systems are represented by a white-noise process with

zero average < Qnet >= 0 and �-correlated in time < Qnet(t)Qnet(t + ⌧ ) >= �(⌧ ). The

function f(t) is a time dependent deterministic forcing. Assume furthermore that f(t) = c ·u(t)

with u(t) as unit step or the so-called Heaviside step function and solve (13.51). What is the

relationship of the dissipation (through � ) and the fluctuations (through the spectrum S(!)) ?

Solution

Since Q(t) is a stochastic process, it has to be solved for the moments. Because < Qnet >=

0, < T (t) > can be solved using the Laplace transform:

< T (t) > = L
�1

{F (s)}(t) = L
�1

⇢
< T (0) >

s + �
+

c

s
·

1

s + �

�
(8.45)

= T (0) · exp(��t) +
c

�
(1 � exp(��t)) (8.46)

because we have < T (0) >= T (0). As equilibrium response, we have

�T = lim
t!1

< T (t) >=
c

�
. (8.47)

The fluctuation can be characterized by the spectrum (exercise 50)

S(!) =< T̂ T̂ ⇤ >=
1

�2 + !2
. (8.48)

and therefore, the spectrum and the equilibrium response are closely coupled (fluctuation-dissipation

theorem).
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Mg/Ca & Alkenones: SST proxy

EOF Analysis: temperature pattern & time series
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Simple energy balance calculation

CS=3.5 K (includes water vapor, cloud feedbacks etc.):

3.5 K x 1/ln(2) ln(265/190) = 3.5 K x 0.48 = 1.68 K  (CO2 effect)

Global change of 3-5 K (or more)

Effects of orography, albedo, dust, other trace gases, etc. = 1-3

Consistent with modeling exercises







Gregory plot: regression of top of the atmosphere (TOA) radiative imbalance (sum of incoming shortwave and incoming
and outgoing longwave radiation at top of atmosphere) versus change of global average surface air
temperature(SAT)for(4xCO2-PI) (green)andfor(4xCO2_O3-PI) (red)basedonannualmeans. 

















1


